RIERE 104 25 A RSFE 24 A Rk

ES I SR FrE sk
FRXBHE 7T A2 B(EHA) 18 AREE 4 ks | B

I RIFR<10%>GHERBFEE B E = 1)

(D). A2 A E A% s 0.81, 84 K48 M1a 3 % 0.90.

() MR R EEERE SR &
GL__*@%&E&%%*%MTﬁﬁﬁﬁﬁ%,%E%%K@mT}i%%ﬁ@ﬁﬁ
Rk ' :

(4) ERBEA T DR LRI RN T EEE SRS TRTR

2. Consider a random sample X5+, X, from an exponential distribution with probability density
function (pdf)

f(x):—l-exp(—f—), x>0,0>0,

o o
(1) Find the maximum likelihood estimator of o. 1o %‘7
(2) Find the unbiased estimator of o and verify it is unbiased. ¢ ) % >

3. Ina comparative study of two new drugs, A and B,(WIAEHr&E > FEESHTST ) | 120 patients were
treated with drug A and 150 patients with drug B, and the following results were
obtained.<20%>

CuredCERARD  Not cured(;4: 4% A8
Drug A 50 70
Drug B 80 70
Total (B8 A\ £ 130 140

(1) Are the types of drug independent with the curing results? <10%>

(2) Do these results demonstrate a si gnificantly higher cure rate with drug B than drug A? Test with
a=0.05.&% B #6RREE ST A 8)<10%>

4. %E"f‘i’/z}ﬂ@k%ﬁ?ﬁﬂb*—%%ﬁ%%%@éﬁ FoBE 10 FR R ek FEFH(SHX B

fr: SR RB(EEY B 58 )T

_ _ 10 10 10
X=74.Y =82, > X!=58000,% ¥ =69650, > XY =63200
i= i=1

i=1

(1)Find the best linear regression model. < /o 7>

(e BIF IR MR F 2 E 48 8] (0=0.05)( TR A H B o %)
(3)Set up ANOVA table and do a F test. < (o % >

(4)Find the coefficient of determination. < /o % >

() £ 912 wKET - ZEIFHL T5EH > FHRAIBRELED 2 /o% >

BARAM: Z5)=1.96, Z p5-1.645, Z,,=1.282, 2 (1)=3. 84, X0s(2)=5.99, 1,,.(8)=2. 306,

Los(8)=1.86, £0,5(9)= 2.262, 1,5(9)=1.833, Fys(1,8)=5.318, F,.(1.9)= 5.117




